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№ п/п �48<е=о64=8е Eт4те9 E<етO 2023

1

1.1

Чле=Eк8е 8 Fеле6Oе 67=оEO Gле=о6 !�& 8 E4до6одо6, 6едуI8E 
E4до6одEт6о 6 8=д868ду4лP=о< поDOдке (87 D4EGет4  670 Dу5. Eотк4, 
о5I4O плоI4дP �' - 3091,73 к6.<) 2071459,1

1.2 �е8EполP7о64==Oе EDедEт64 по пDедOдуIе9 E<ете 880362,27

1.3 Дол78 по Gле=Eк8<  67=оE4< пDоHлOE пеD8одо6 1123116,8

2 Целе6Oе 67=оEO 
2.1 Целе6о9 67=оE 74 подклNGе=8е к ЛЭ� 420000

2.2 Целе6о9 67=оE =4 6оEт4=о6ле=8е доDо7 пD8 EтDо8телPEт6е до<4 90000

2.3 Дол78 по Fеле6O< 67=оE4< (�8део=45лNде=8е) 114360

2.4 �е8EполP7о64==4O Eу<<4 по Fеле6O< 67=оE4< (68део=45лNде=8е) 384,83

Ито7о пD8Eод=4O ч4EтP E<етO 5е7 Qл.Q=еD788 4699683,00

 4EEод=4O ч4EтP
�48<е=о64=8е Eт4те9 E<етO

1 �4теD84лP=Oе D4EEодO
1.1. 1.1.1. е<о=т пDое76е9 G4Eт8 ул8F, пDое7до6 843200

1.1.2  е<о=т пеHеEод=OE доDо6ек 500000

1.2. �л47оуEтDо9Eт6о 7е<елP о5Iе7о полP7о64=8O
1.2.1. ОкоE �О� !�& 100000

1.2.2.!5оD 8 6O6о7 &�О 476983

1.2.3 �D8о5Dете=8е то64Dо6 =4 Eо7O9Eт6е==Oе =у6дO 5000

1.2.4. �4теD84лO длO оE6еIе=8O <еEт о5Iе7о полP7о64=8O 240000

1.2.5. �отDе5ле=8е QлектDоQ=еD788 Dо=4Dе9 =4 �О� !�& 72000

1.2.6. �77ото6ле=8е т45л8Gек 27700

1.2.7. �л47оуEтDо9Eт6о <уEоD=OE плоI4док (Dе<о=т) 25000

1.4 ОED4=4, EодеD64=8е пD46ле=8O 14400

1.5  е<о=т 8 пDоD8л4кт8к4 E8Eте<O 68део=45лNде=8O: 200000

1.6  4EEодO =4 Dе<о=т, <одеD=874F8N 8 QкEплу4т4F8N ЛЭ� :
1.6.1. опл4т4 по до7о6оDу 18 000 6 <еE. 216000

1.6.2. <одеD=874F8O, Dе<о=т 204000

Ито7о <4теD84л=Oе D4EEодO 2924283

2  4EEодO по опл4те тDуд4 989000

3  4EEодO =4 оD74=874F8N 8 пDо6еде=8е о5щ8E Eо5D4=89 5000

4 �Dо7D4<<=ое о5еEпече=8е 48700

5 .D8д8чеEк8е D4EEодO 200000

6  4EEодO =4 уEлу78 54=к4 10000

С<ет4 СНТ "Октя5DьEкое" =4 2023 год

Чле=Eк8е 8 Fеле6Oе 67=оEO Gле=о6 !�& 8 E4до6одо6, 6едуI8E E4до6одEт6о 6 
8=д868ду4лP=о< поDOдке



7

 4EEодO по =4ло74< 8 E5оD4<, EтD4Eо6O< 67=оE4< 6 �Ф , 
7е<елP=O9 =4ло7 365700

8

 4EEодO =4 ко<пе=E4F8N Г!� длO Eлу6е5=OE пое7док =4 л8ч=OE 
ле7ко6OE 46то<о58ле9 12000

9  4EEодO =4 к4=FелODEк8е то64DO 30000

10 �очто6Oе D4EEодO 15000

11 �епDед68де==Oе D4EEодO 100000

Ито7о D4EEод=4O ч4EтP E<етO 4699683

12

 е7еD6 6о76D4ще==O9 по Eуду от ООО "�о=т46ЭлектDо!тDо9" пD8 
ут6еD6де=88 о5щ8< Eо5D4=8е< D4EEодуетEO =4 Dеко=EтDукF8N 
л8=88 QлектDопеDед4ч (74<е=4 464D89=OE опоD, Eо7л4E=о 4кт4 
оE<отD4 /=т4DPQ=еD7о) 2585319

13 ЭлектDоQ=еD78O  по Eчет4< ОАО "/=т4DPQ=еD7оE5Oт"


